
set 0 AREA:  Lag B'Omer  start=199077 tc = 11502 numrows =
6 numcols = 36 cyl_size 11502 comp = 2.160000e+002 (1,1)

Lag B’Omer xnra bl The Hidden Light fepb xe`d

4/07:16lz`hggafleninlydxwanipynli`dyngicezr4/07:17

4/13:28bzlcc`nnbeicliwprdepi`xnywlnrayeix`a4/13:29

4/20:05a`iepz`l`newndrxddfd`lnewnfxrez`pdeb4/20:05

4/26:59rnxncakeizaielxy`dclidz`iellnixvnaze4/26:59

4/33:31nzexqepgieipaapwrierqieipanpwriepgie4/33:32

5/04:05xavx`dxy`nz`ni`adnydzyxlnzxnyenziyre5/04:06

  11502 xnrabl

          2 xe`d
          3 fepb


